Please include the questions in this document.  There is a word document version of the exploration questions.

1. After every iteration the tortoise is ahead by the percent of his head start times the distance between the rabbit and the finish line. 
So after 5 steps his 
was ahead by 3.125 miles, after 10 steps he was ahead by .09765875 miles and after 10 steps he was ahead by .0030517578125 miles

2. The hare is running faster. This I seen 
because the “gap” between the tortoise and the hare was getting increasingly smaller
. When the tortoise is given a 50% head start his average speed is approximately 114.323 
and the hare’s average speed is about 35.026 miles per step. As the race progresses the speed of both of the animals seems to decrease.

3. With the rules provided and the information observed
, neither the tortoise nor the hare would ever win because the hare is always twice as far from the finish as the tortoise who is always half as far as the hare, and their speeds weren’t changeable
.

�The way you have this worded isn’t quite right… It isn’t the head start but the amount that the tortoise is ahead on the previous iteration.


�grammatical error.  Not sure whether the animals are male or female, best to just call them by hare / tortoise.  The use of a pronoun is ambiguous here.


�Your example here applies only if the tortoise is ahead by 50%.  You should specify this b/c the % of the head start is variable.


�Grammatically incorrect.


�Good!


�Need an explanation for this figure.


�Support this statement mathematically.


�You are getting there with this explanation but it needs fleshed out more.    You don’t really state why neither will ever win.


�But you just stated in #2 that their speeds do change.





